Converting Aries projections to PHDWin
A projection from Aries will look something like the table below. This projection is a gas projection that should reach a tech EUR of approx. 7.9 BCF. It has 4 segments - there is one line in the chart for each segment. 
	Tech EUR =  7.9 BCF  
	Rate
	
	
	 Time      
	
	B factor
	& Decline

	GAS
	12000
	X
	M/D
	2
	MO
	EXP
	94

	"
	X
	X
	M/D
	16
	MO
	B/0.65
	49

	"
	X
	X
	M/D
	6
	EXP
	B/.93
	45

	"
	X
	X
	M/D
	50
	YR
	EXP
	6




[bookmark: _GoBack][image: ]Seg 1: The initial rate is 12000 Mcf/day(M/D) for 2 months(MO) with a decline of 94 % exponential(EXP). Exponential declines do not need to be converted to be input into PHDWin. The initial date can be any date of your choosing, this is a type curve from Aries so it does not matter. 




[image: ]Seg 2: The initial rate & date will be determined from the ending rate of the last segment. The segment says 16 months, the time here will always be the cumulative time(or time from the beginning date of the FIRST segment to the end of this segment). So 16 months from 1/1/2014(the Beg date of Seg1) would be 5/1/2015. This is a 14 month segment(16 months-2 months). Next we see B/0.65 – this means this segment is hyperbolic with a b-factor of .65. The last column is again the decline, however, hyperbolic declines need to be converted for PHDWin. Use the Aries to PHDWin decline spreadsheet and input 49 as Aries decline, and .65 as the b-factor to get a resulting decline rate of 57.0343. 

[image: ]Seg 3: The initial rate & date will be determined from the ending rate of the last segment. For the “time” column, this says something like, continue until the decline is 6% exponential. So input the converted decline of 55.0508(using decline conversion spreadsheet) and then choose and end date or end rate far in the future. Use walk mode to walk through the projection until the decline is 6%, this is the ending date/rate.

[image: ]Seg 4:  The initial rate & date will be determined from the ending rate of the last segment. This segment will end 50 years from the initial date of seg 1, which in the example is 1/1/14. It has a 6% exponential decline which does not need to be converted for PHDWin. 
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